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Twentieth International Mathematics Contest (Taiwan)
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300x500ppm=150000x10°=0.15
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<fE47>
je-1[-la-1[=a-c| = e-1[=|a-c[+|a-1| B 4 C
..BC=BA+AC 1 a c
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4. @ 4 = R s i 5 % s Bl = #icz fo s 2 (A)18 (B)21 (C)24 (D)27
<fZ$7>

504=23x3>x7=7x8x9
. 1+1+1 191

‘7 8 9 504
SUTA8+9=24 5 £ C o

SR T 4 fok 3 Ao £430 S aed 2 BRI 624 4 0 RREF 55 A0
(A)1001 (B)1022 (C)1092 (D)1220

<fati>

4:3=624:[ ]

624+4=156

156x3=468

624+468=1092 » £ C -
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6. Suppose 7 is a positive integer. There are 12 positive factors of n. What is the smallest value
of n that satisfies this condition? (A)60 (B)72 (C)80 (D)96

<jZ{7>

60=1x60=2x30=3x20=4x15=5x12=6x10

E A

<¥ jz>
12=1x12=2x6=3x4=3x2x2
nind e gl
a’xb!
a’xb?
a*xb'xc' (a ~ b~ ¢ 2 #o)
21=2048
25x3=96
23x32=72
253x5=60(% -] n &)

7. 3B ANE 27300 2 F 260 5 Tng AT Y F 105 THT AR FIT i
4'@%5173 150 57 > & 275 soog o H eI E 207300 R D R R R
A E RN S0 A (A)BK 10000 & (B)RE 15000 & (C)B& 10000 = (D)2 15000 ~
(1 5 7=0.627)

<fiz 45>

= ~=300x260=78000

2 % =150%0.6x500+(260-150-10)x0.6x300=45000+18000=63000

63000-78000=-15000
#Z Do

8. The elder brother’s money is 2% times that of the younger brother. If the two of them have a

total of 253 dollars, how much money does the elder brother have than the younger brother?
(A)110 (B)115 (C)120 (D)125

<fZ$7>

253+(1+ 2§)=253x = =69

69x(25-1)=115 > E B -
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Vet 08 10 B3 o B
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BR=F Fld 5l

FRAI=FF3+5 5+F F>BF=% F+% #+F 5-1

F F+1+5 %QH*%; F+F F+F -1

F %=3> B B=3+1+3+1=8 4p £ 8-3=5>:E Co

1. ek - FH a7 B A RTFHE 12345612345~
6~1~...... » BArE fS - TR il F A3 FRAESSFEC] PP % h A Biofd IR EIR?
(A)- T BI (B)- TA6 R dk (O)- TA4 95k (D)- TA3I Rk

<;.'z;+fr>

KM xF x4

T2k — x=6k+3=3(2k+1)

JPFiA%;uq3ml #oEDo

(x 3)

12 B4Febi o #5310 ~ > BAHE -3 BFET L 15 XFEL£200~ > 5+
PR ] 5 FTACHL? (A)27 (B)28 (C)29 (D)30

<fE$7>
PER & Rk g, E
200+10=20 20 20
20+3=6...2 6 6+2=8
8§+3=2...2 2 2+2
4+:3=1...1 1 1+1

B % 20+6+2+1=29 5T » £ C o

13. What is the sum of all the numbers of natural numbers 1, 2, 3, ...,9998, 99997 (ex. The sum
of 37 numbers is 3+7=10) (A)18000 (B)180000 (C)36000 (D)360000
<fE$7>

0,1,2,3,4,5,6,........ 9996 9997 ,9998 9999 #c% fr
L 36 L
36
36
g fr="""=180000 > i B -

14, 4o+ ® > F 5> B = 352 (A)25 (B)26 (C)27 (D)28
<jE$7>

& > A5(1)=17

> A5(4)=8

& > A5(9)=2

£ 5 17+8+2=27 1 > :F C -
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13 17 15 23 7 21
(A)3 (B)5 (C)9 (D)6
<fZ{7>
4x2+5=13
6x2+5=17
9x2+5=23
[2+5=15 - [J=5 » & B -
LR - BRAfe- BEAZENEER S RMPRRLS M| [
522 (A)12 (B)16 (C)18 (D)20 -
<f3di>
&% 255 48 =X J=64
e £
= &3 —@—12
= M=12+8= 20 # Do
17. %% Z #3100 ~ 200 ~ 300 ~ 400 ~ 500 ~ 600 #& » — 4+  FH#Hcis > 7RI E L He| o

PREbe x 15 0 T i ESIE2 (A)11 (B)26 (C)31 (D)51
<fE$7>
£=200-100=100 » ¢ £ oA ="
Zn=1+2-4~5+10~20~25~50~ 100
Al n=1 £=100 » #5]=100 ~ 200 ~ 300 ~ 400 ~ 500 ~ 600 (6 %)
Bl n=2» £=50 » #5]=100 ~ 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 ~ 450 ~ 500 ~ 550 ~ 600(6+5x1=11 3%
Bl n=4 > £=25 #7]=100 ~ 125 ~ 150 ~ 175 ~ 200 ~ 225 ~ 250 ~ 275 ~ 300 ~ 325 ~ 350 ~ 375 ~ 400 ~
425 ~ 450 ~ 475 ~ 500 ~ 525 ~ 550 ~ 575 ~ 600(6+5x3=21 7%)
A
1 n=5 0 £=20 7 H# =100~ 120 ~ ~ ~ ~ (6+5x4=26 7%)
1 n=10 > £=10 > H7]=100 ~ 110 ~ ~ ~ ~ (6+5x9=51 77 )
1 n=20 » £=5 H#7|=100 ~ 105+ ~ ~ ~ (6+5x19=101 )
Pl n=25+ £=4 - gxzq 100 ~ 105~ ~ ~ ~ (6+5x24=126 7)
1]
1]

1

F1=100 ~ 102 ~ ~ ~ ~ (6+5x49=251 7¥)
3J=100 <101~ ~ ~ ~ (6+5x99=501 %)

18. % ~ B &> o= ﬁﬁ:m'fr'lz. 6 = ﬁﬁ:m'fr'#ﬁ % %2 2(A)21 (B)18 (C)15 (D)12
<)§’¢ﬁ>

BFH B asat2 s atd s at6 > at8 > atll

W = #c= atat2+tat4=3a+6

t$ = #= at6+a+8+a+10=3a+24

3a+24-(3a+6)=18 » i B
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19. 4ot Bl » % ¢ 0% £ 11424 20 > RE 3R FH 50 o
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<fZ$7>

S kit Bl I PANEIE S B A L s il

[ x4+ [x2x3.14+2=114.24

[(Ix(4+3.14)=114.24

[ ]=114.24+7.14=16

£ #=16x2=32 > C-

20. 45 ERE N BECE AR L foRan E 0 B S S BT § £4F L2 (A)0 (B)]
(©)2 (D)3

<jati> QQ@
K 9T g F =y oo
Pl = B3 F 2 fr=8+y+10=18+y o O O O @ O

24t Boy-1~ 125 11 ~ y+l

W3 & REAH IR ® O W O
¥ y=8:(7,12,7,11,9,9,8,8,10) » % 3 B#cF £ 4 o

¥ y=9(8,12,7,11,9,10,8,9,10) » # 3 B#ZF €47 -

¥ y=10-(9,12,7,11,9,11,8,10,10) » % 3 B #cF €45 o

¥ y=11-(10,12,7,11,9,12,8,11,10) » § 3 B#F £4F

#F Do

21.The figure on the right is composed of 6 semicircle arcs (+ [f]7%) and

6 i arcs(5™). If the diameter is 3, what is the area of the gray part in
square units? (A)9 7 (B)27 (C)30 (D)I12~«
<jE$7>
BB E AT E VAT AR
5 f=3xx6=27 » i B -

22.% % n FE gk nl=ax(n-1)x(n-2)x(n-3)x:---- X3x2x1 » G4 41=4x3x2x1 > F x!=6!x7! > R
x=? (A)13 (B)9 (C)10 (D)42

<fE47>

x!1=T1x6x5x4x3x2x1=T7!x8x9x10=10! > R] x=10
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2347 222~ 2%° 2 220 L L3 H BIE ¢ 4 ¥ 100010907 (23=2x2x2=8)

(A)4 (B)5 (C)101 (D)1001
<jafs>
@ 1 0001000:(1 03)1000
® 611:2
a,=22=2x2=4
a=22"=2'=16
a,=2=210=210x20=1024x64=65536
a5:2a4:265536:(210)6553><26:10246553><26>(1()3)6553><64>(1()3)1000
mEH 57 E B

24. Refer to the diagram, the area of quadrilateral ABCD is 120 square units,

ED=2AE, BF=2FC. G and H are midpoints of BE and DF,

respectively. What is the area of the shaded quadrilateal EGFH? (A)30

(B)35 (C)40 (D)60
<fZ47>
Ow i#3) EBFD=2(x+y)
r 835 ABCD=3(x+y)
—> 1 i§3) EBFD=xw i§ 3} ABCD=2x120-80

@w i$7) EGFH=a+b
w i§7; EBFD=2(a+b)
—> 1 3§7) EGFH=x® i§ %) EBFD=2x80=40

25.4rt £ 4T 0 b b BB - TR 7RE A B
ficd o ol T4 20 BalcE P2 (A)599 (B)699 (C)799 (D)899
<jE$7>
3~7~19~31~51~71~99~127~163~199
ar="7

as=T7+12x2
ag=7+12%x2+20%2
ag=T7+12x2+20x2+28x2=T+2x(12+20+28)
a10=7+12x2+20x2+28x2+36x2=7T+2x(12+20+28+36)

a=T+2X(12:420+28+.. +bo)=7+2x R 7.19,(04-64)=7+792=799
# Co
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£EaE - % H 56 2 1 7 =5637=8 ) » ¢ =56+8=T )
[8,71=56 4 » = 56 f)7 A I pEw I A B A %

" :56+8=7 ] » ¢ :5637=8 [ > B TlE i - S ApigT A B
PigApig 0 =

BOZ B> RIchE ~ 5~ B A BE 30048 25200 22004 o L

BERFE f,_igg.;—;q,k;;s{ T BRETI - BHEEL 16 24 D S R 0 KA
T aE N R? KooEdearkg xS

<fE$7>

30x25x(20-17)=750x3=2250

16x16x16=4096

4096>2250 — -k & F &k

& 2 eRE F=4096-2250=1846(% )
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